

Vendor	CDW	EarthWalk Communications, Inc.	Hyperrec USA Inc.	LEBOMAR LLC
Contact Information (From Attachment A)	<p>Company Information: 230 N Milwauke Ave Vernon Hills, IL 60061 Primary Contact: Faizan Badr - Account Manager Phone: (877) 518-5804 Fax: (312) 752-3849 faizbad@cdwg.com</p> <p>Authorized Approver: Matthew Flood - Proposals Supervisor Phone: (877) 518-5804 Fax: (312) 752-3849 faizbad@cdwg.com</p>	<p>Company Information: 10511 Battlevue Parkway Manassas, VA 20109 Primary Contact: Cheyanne Reuss-Dean - Director, Bids & Contracts Phone: (703) 393-1940 Fax: (703) 997-8797 cheyanne@earthwalk.com</p> <p>Authorized Approver: Robert G. Vanderlip - Executive Vice President Phone: (703) 393-1940 Fax: (703) 997-8797 gregv@earthwalk.com</p>	<p>Company Information: 1868 E. Broadway Rd. Tempe, AZ 85282 Primary Contact: Mike Marracino - VP & GM Phone: (480) 626-9000 Fax: (480) 626-9001 bidsus@hyperrec.com</p> <p>Authorized Approver: Same As Above</p>	<p>Company Information: 18501 PINES BULD STE 357 Pembroke Pines, FL 33029 Primary Contact: Wilton Ramos - President Phone: (954) 374-4208 cesar.leboreiro@grupolebomar.com</p> <p>Authorized Approver: Same As above</p>
Attachment A - Contact Information Form	Yes.	Yes.	Yes.	Yes.
Attachment B - Non-Collusive Affidavit	Yes.	Yes.	Yes.	Yes.
Attachment C - Proposer's Qualifications Statement	Yes.	Yes.	Yes.	Yes.
Vendor Registration and Qualification Documents:				
1. Vendor Information Form	Yes.	Yes.	Yes.	Yes.
2. Form W-9 (Rev. October 2018)	Yes.	Yes.	Yes.	Yes.
3. Sworn Statement of Public Entity Crimes Form	A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.
4. Local Vendor Preference Certification	Does not qualify for Local Vendor Preference Certification.	Does not qualify for Local Vendor Preference Certification.	Does not qualify for Local Vendor Preference Certification.	Claiming Local Vendor Preference Certification as a Local Pembroke Pines vendor.
5. Local Business Tax Receipts	Not a Local Business	Not a Local Business	Not a Local Business	City of Pembroke Pine and Broward County Tax Receipt
6. Veteran Owned Small Business Preference Certification	Does not qualify for VOSB Preference Certification.	Does not qualify for VOSB Preference Certification.	Does not qualify for VOSB Preference Certification.	Does not qualify for VOSB Preference Certification.
7. Equal Benefits Certification Form	Currently complies.	Currently complies.	Currently complies.	Currently complies.
8. Vendor Drug-Free Workplace Certification Form	Complies fully.	Complies fully.	Complies fully.	Complies fully.
9. Scrutinized Company Certification	Yes.	Yes.	Yes.	Yes.
Bid Security (N/A, Bid Bond, Cashier's Check, Not Submitted)	N/A	N/A	N/A	N/A
Additional Information	Quote -CDW Corporate Structure	Quote	Quote	None provided.
Method of Submittal	BidSync	BidSync	BidSync	BidSync
Supplier Notes for Offer	None provided.	None provided.	None provided.	None provided.
Comments				

City of Pembroke Pines
 Bid Tabulation - Procurement

IFB #TS-19-02

Chromebooks, Licenses, and Mobile Carts

Staples Inc.		Verapro	
Company Information: 1096 E. Newport Center Drive Ste 300 Deerfield Beach, FL 33442 Primary Contact: Rick Nieves - Account Executive Phone: (407) 475-4844 Rick.Nieves@staples.com Authorized Approver: Marty Robertson - VP / General Manager Phone: (407) 475-4844 Rick.Nieves@staples.com		Company Information: 470 Pine St. Norco, LA 70079 Primary Contact: Casey Weber - Owner Phone: (504) 723-1026 casey@verapro.net Authorized Approver: Same As above	
Yes.	Yes.	Yes.	Yes.
Yes.	Yes.	Yes.	Yes.
Yes.	Yes.	Yes.	Yes.
A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.		A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	
Claiming Local Vendor Preference Certification as a Broward County vendor.		Does not qualify for Local Vendor Preference Certification.	
Broward County		None provided.	
Does not qualify for VOSB Preference Certification.		Does not qualify for VOSB Preference Certification.	
Currently complies.		Currently complies.	
Complies fully.		Complies fully.	
Yes.		Yes.	
N/A		N/A	
Product Specifications		None provided.	
BidSync		BidSync	
Provided a few products detail and notes on Bid submittal		None provided.	



Welcome eperjuste@ppines.com | [Logout](#)

[Need assistance?](#)
Contact us
 or call 800-990-9339

[Home](#) [Search](#) [Source](#) [Contracts](#) [Tools](#)

[View by Line Item](#) | [View by Supplier](#)

[View Printable](#)

Bid #TS-19-02 - Chromebooks, Licenses, and Mobile Carts for Pembroke Pines Charter Schools

Creation Date **Jun 20, 2019**

End Date **Jul 23, 2019 2:00:00 PM EDT**

Start Date **Jun 25, 2019 2:10:08 PM EDT**

Awarded Date **Not Yet Awarded**

Staples Inc., Staples Technology Solutions		\$216,528.33 (15/15 items)		
Bid Contact Rick Nieves rick.nieves@staples.com Ph 407-475-4844		Address 1901 Summit Tower Blvd Suite 100 Orlando, FL 32810		
Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9				
Bid Notes Please also see attached insurance redlines. This was the only place we noticed where we could upload an attachment under line item TS-19-02-01-15.				
Agency Notes:		Supplier Notes: Please also see attached insurance redlines. This was the only place we noticed where we could upload an attachment under line item TS-19-02-01-15.		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
TS-19-02-01-01	Chromebook - First Offer	\$228.00	459 / each	\$104,652.00
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH0006US Supplier Notes: See Attachment		
TS-19-02-01-02	Chromebook Mgmt License - First Offer	\$24.00	459 / each	\$11,016.00
Product Code: CROSSWDISGRT Agency Notes:		Supplier Product Code: CROSSWDISGRT Supplier Notes: Exact item		
TS-19-02-01-03	Chromebook Cart - First Offer	\$764.10	15 / each	\$11,461.50
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: TVC32PAC-CK Supplier Notes: https://www.bretford.com/product/cube-cart		
TS-19-02-01-04	Desktops - First Offer	\$462.40	90 / each	\$41,616.00
Product Code: HAO120001B00000 Agency Notes:		Supplier Product Code: Supplier Notes: Staples sells the desktop, license and warranty separate. Unit price is combined. Here I will separate the pricing with item numbers. HAO120001B00000 - \$307.90 - BPP0L0000000000 - \$99.99 1 BMY3L00000000000 - \$54.51 - Total \$462.40		

TS-19-02-01-05	Desktops - First Offer	\$652.77	10 / each	\$6,527.70
Product Code: HAB250011B00000 Agency Notes:		Supplier Product Code: Supplier Notes: Staples sells the desktop, license and warranty separate. Unit price is combined. Here I will separate the pricing with item numbers. AHB250011B00000 - \$492.09 - BPP0L0000000000 - \$106.17 - BMY3L0000000000 - \$54.51 - Total 652.77		
TS-19-02-01-06	Document Cameras - First Offer	\$379.12	8 / each	\$3,032.96
Product Code: 340H Agency Notes:		Supplier Product Code: DC170 Supplier Notes: See Attachment		
TS-19-02-01-07	Interactive Systems - First Offer	\$382.71	4 / each	\$1,530.84
Product Code: Agency Notes:		Supplier Product Code: ELM1367 Supplier Notes: https://www.elmoussa.com/product/mx-p/		
TS-19-02-01-08	Microsoft Surface Pro - First Offer	\$1,678.32	4 / each	\$6,713.28
Product Code: Agency Notes:		Supplier Product Code: LQJ-00001 Supplier Notes: Exact Item		
TS-19-02-01-09	Microsoft Surface Pro Keyboard - First Offer	\$117.81	4 / each	\$471.24
Product Code: Agency Notes:		Supplier Product Code: FFQ-00041 Supplier Notes: Exact Item		
TS-19-02-01-10	Microsoft Surface Pro Mouse - First Offer	\$25.80	4 / each	\$103.20
Product Code: Agency Notes:		Supplier Product Code: KGZ-00011 Supplier Notes: Exact Item		
TS-19-02-01-11	Microsoft Surface Pro Styus - First Offer	\$73.74	4 / each	\$294.96
Product Code: Agency Notes:		Supplier Product Code: EYV-00025 Supplier Notes: Exact Item		
TS-19-02-01-12	Printer - First Offer	\$185.56	36 / each	\$6,680.16
Product Code: M402dn Agency Notes:		Supplier Product Code: W1A53A#BGJ Supplier Notes: M402dn is end of life. Staples offers toners and warranty for this product. See attachment		
TS-19-02-01-13	Projectors - First Offer	\$506.31	31 / each	\$15,695.61
Product Code: ME331W Agency Notes:		Supplier Product Code: NP-ME331W Supplier Notes: Exact Item		
TS-19-02-01-14	Projector Ceiling Mount - First Offer	\$78.73	31 / each	\$2,440.63
Product Code: Agency Notes:		Supplier Product Code: NP01UCM Supplier Notes: Exact Item		
TS-19-02-01-15	SMART Boards 77 - First Offer	\$858.45	5 / each	\$4,292.25
Product Code: Agency Notes:		Supplier Product Code: FX-79E2 Supplier Notes: See Attachment for line item. Please also see attached insurance redlines. This was the only place we noticed where we could upload an attachment.		

Hypertec USA Inc. (Hypertec Direct)		\$232,339.19 (15/15 items)	
Bid Contact Mike Marracino bidsus@hypertec.com Ph 480-626-9000 Fax 480-626-9001		Address 1753 E BROADWAY RD STE 101-514 TEMPE, AZ 85282	
Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9			
Agency Notes:		Supplier Notes:	
Item #	Line Item	Unit Price	Qty/Unit
TS-19-02-01-01	Chromebook - First Offer	\$255.66	459 / each
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH0006US Supplier Notes:	
TS-19-02-01-02	Chromebook Mgmt License - First Offer	\$23.40	459 / each
Product Code: CROSSWDISGR Agency Notes:		Supplier Product Code: CROSSWDISEDU Supplier Notes:	
TS-19-02-01-03	Chromebook Cart - First Offer	\$0.00	15 / each
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: Supplier Notes:	
TS-19-02-01-04	Desktops - First Offer	\$491.58	90 / each
Product Code: HAO120001B00000 Agency Notes:		Supplier Product Code: HAO120001B00000 Supplier Notes:	
TS-19-02-01-05	Desktops - First Offer	\$647.35	10 / each
Product Code: HAB250011B00000 Agency Notes:		Supplier Product Code: HAB250011B00000 Supplier Notes:	
TS-19-02-01-06	Document Cameras - First Offer	\$590.82	8 / each
Product Code: 340H Agency Notes:		Supplier Product Code: 1771044 Supplier Notes:	
TS-19-02-01-07	Interactive Systems - First Offer	\$958.16	4 / each
Product Code: Agency Notes:		Supplier Product Code: 1762262 Supplier Notes:	
TS-19-02-01-08	Microsoft Surface Pro - First Offer	\$1,720.00	4 / each
Product Code: Agency Notes:		Supplier Product Code: LQJ-00016 Supplier Notes:	
TS-19-02-01-09	Microsoft Surface Pro Keyboard - First Offer	\$118.16	4 / each
Product Code: Agency Notes:		Supplier Product Code: FFQ-00041 Supplier Notes:	
TS-19-02-01-10	Microsoft Surface Pro Mouse - First Offer	\$26.00	4 / each
Product Code: Agency Notes:		Supplier Product Code: KGZ-00011 Supplier Notes:	
TS-19-02-01-11	Microsoft Surface Pro Stylus - First Offer	\$73.00	4 / each
Product Code: Agency Notes:		Supplier Product Code: EYV-00025 Supplier Notes:	
TS-19-02-01-12	Printer - First Offer	\$204.00	36 / each
Product Code: M402dn Agency Notes:		Supplier Product Code: W1A53A#BGJ Supplier Notes:	
TS-19-02-01-13	Projectors - First Offer	\$525.00	31 / each
Product Code: ME331W Agency Notes:		Supplier Product Code: NP-ME331W Supplier Notes:	
TS-19-02-01-14	Projector Ceiling Mount - First Offer	\$76.41	31 / each
Product Code: Agency Notes:		Supplier Product Code: NP01UCM Supplier Notes:	
TS-19-02-01-15	SMART Boards 77 - First Offer	\$2,247.88	5 / each
Product Code: Agency Notes:		Supplier Product Code: SBM680 Supplier Notes:	

CDW		\$266,335.19 (15/15 items)	
Bid Contact Faizan Badr faizbad@cdwg.com Ph 312-705-8118		Address 120 S Riverside PLZ Chicago, IL 60606	
Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9			
Agency Notes:		Supplier Notes:	
Item #	Line Item	Unit Price	Qty/Unit
TS-19-02-01-01	Chromebook - First Offer	\$293.50	459 / each
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH000LUS Supplier Notes:	
TS-19-02-01-02	Chromebook Mgmt License - First Offer	\$24.10	459 / each
Product Code: CROSSWDISGR Agency Notes:		Supplier Product Code: CROSSWDISGR Supplier Notes:	
TS-19-02-01-03	Chromebook Cart - First Offer	\$1,147.09	15 / each
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: AC-CDW-36 Supplier Notes:	

TS-19-02-01-04	Desktops - First Offer	\$510.05	90 / each	\$45,904.50
Product Code: HAO120001B00000 Agency Notes:		Supplier Product Code: HAO120001B00000 Supplier Notes:		
TS-19-02-01-05	Desktops - First Offer	\$664.10	10 / each	\$6,641.00
Product Code: HAB250011B00000 Agency Notes:		Supplier Product Code: HAB250011B00000 Supplier Notes:		
TS-19-02-01-06	Document Cameras - First Offer	\$571.66	8 / each	\$4,573.28
Product Code: 340H Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-07	Interactive Systems - First Offer	\$947.61	4 / each	\$3,790.44
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-08	Microsoft Surface Pro - First Offer	\$1,762.80	4 / each	\$7,051.20
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-09	Microsoft Surface Pro Keyboard - First Offer	\$119.45	4 / each	\$477.80
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-10	Microsoft Surface Pro Mouse - First Offer	\$26.01	4 / each	\$104.04
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-11	Microsoft Surface Pro Stylus - First Offer	\$74.74	4 / each	\$298.96
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-12	Printer - First Offer	\$204.23	36 / each	\$7,352.28
Product Code: M402dn Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-13	Projectors - First Offer	\$575.07	31 / each	\$17,827.17
Product Code: ME331W Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-14	Projector Ceiling Mount - First Offer	\$78.87	31 / each	\$2,444.97
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-15	SMART Boards 77 - First Offer	\$1,376.96	5 / each	\$6,884.80
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

LEBOMAR LLC		\$328,908.75 (12/15 items)		
Bid Contact Cesar LEBOREIRO cesar.leboreiro@grupolebomar.com Ph 954-374-4208		Address 18501 PINES BOULEVARD SUITE 357 PEMBROKE PINES, FL 33029		
Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9				
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
TS-19-02-01-01	Chromebook - First Offer	\$211.19	459 / each	\$96,936.21
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH0006US Supplier Notes: 14E CHROMEBOOK A4/1.9 2C 14 4GB 32GB SSD		
TS-19-02-01-02	Chromebook Mgmt License - First Offer	\$259.76	459 / each	\$119,229.84
Product Code: CROSSWDISGRT Agency Notes:		Supplier Product Code: CROSSWDISEDU Supplier Notes: CHROMEOS MGMT SVC FOR EDU LIC		
TS-19-02-01-03	Chromebook Cart - First Offer	\$1,760.00	15 / each	\$26,400.00
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: CC30-HEZP2 Supplier Notes: ChromeCart 30 model # CC30-HEZP2		
TS-19-02-01-04	Desktops - First Offer	\$476.18	90 / each	\$42,856.20
Product Code: HAO120001B00000 Agency Notes:		Supplier Product Code: 5495574 Supplier Notes: HAO120001B00000 + BPP0L0000000000 + BMY3L0000000000 IGEL TECHNOLOGY : UD3-LX, IGEL OS 11, incl. 2GB RAM and 4GB SSD, Powercord US + Workspace Edition License + IGEL Workspace Edition 3 year Maintenance		

TS-19-02-01-05	Desktops - First Offer	\$633.87	10 / each	\$6,338.70
Product Code: HAB250011B00000 Agency Notes:		Supplier Product Code: 5179758 Supplier Notes: HAB250011B00000 + BPP0L0000000000 + BMY3L0000000000 IGEL TECHNOLOGY : UD3-W10 4GB RAM and 32GB SSD, PowerCord incl. US-Plug + Workspace Edition License + : IGEL Workspace Edition 3 year Maintenance		
TS-19-02-01-06	Document Cameras			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-07	Interactive Systems			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-08	Microsoft Surface Pro - First Offer	\$1,783.55	4 / each	\$7,134.20
Product Code: Agency Notes:		Supplier Product Code: LQJ-00016 Supplier Notes: SURFACE PRO6 I7 16GB 512GB COMM FR BLK		
TS-19-02-01-09	Microsoft Surface Pro Keyboard - First Offer	\$125.87	4 / each	\$503.48
Product Code: Agency Notes:		Supplier Product Code: FFO-00041 Supplier Notes: SPRO SIGNA TYPE COVER COMM M1725 BGN DY		
TS-19-02-01-10	Microsoft Surface Pro Mouse - First Offer	\$27.58	4 / each	\$110.32
Product Code: Agency Notes:		Supplier Product Code: KGZ-00011 Supplier Notes: SURFACE MOB MSE SC BT XD XX BGN DY 1 LIC		
TS-19-02-01-11	Microsoft Surface Pro Styus - First Offer	\$76.32	4 / each	\$305.28
Product Code: Agency Notes:		Supplier Product Code: EYV-00025 Supplier Notes: SURFACE PEN COMM M1776 SC EN SP BGN DY		
TS-19-02-01-12	Printer - First Offer	\$211.19	36 / each	\$7,602.84
Product Code: M402dn Agency Notes:		Supplier Product Code: W1A53A#BGJ Supplier Notes: LJ PRO M404DN LASERPR 38PPM US CA MX LA		
TS-19-02-01-13	Projectors - First Offer	\$554.60	31 / each	\$17,192.60
Product Code: ME331W Agency Notes:		Supplier Product Code: NP-ME331W Supplier Notes: PROJ 3300LUM WXGA LCD W/ 6000:1 IRIS 20W		
TS-19-02-01-14	Projector Ceiling Mount - First Offer	\$138.68	31 / each	\$4,299.08
Product Code: Agency Notes:		Supplier Product Code: RPA284 Supplier Notes: CEIL MOUNT FOR PROJ		
TS-19-02-01-15	SMART Boards 77			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		

V		\$168,408.75 (3/15 items)		
Bid Contact Casey Weber casey@verapro.net Ph 504-723-1026		Address 552 Belle Terre Blvd. Laplace, LA 70068		
Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9				
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
TS-19-02-01-01	Chromebook - First Offer	\$292.75	459 / each	\$134,372.25
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH000LUS Supplier Notes:		
TS-19-02-01-02	Chromebook Mgmt License - First Offer	\$23.50	459 / each	\$10,786.50
Product Code: CROSSWDISGR T Agency Notes:		Supplier Product Code: CROSSWDISGR T Supplier Notes:		
TS-19-02-01-03	Chromebook Cart - First Offer	\$1,550.00	15 / each	\$23,250.00
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: 4ZD0G75071 Supplier Notes: MOBILECART EARTH WALK 30U MC00072110 4/17		
TS-19-02-01-04	Desktops			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-05	Desktops			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
TS-19-02-01-06	Document Cameras			No Bids

Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-07	Interactive Systems				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-08	Microsoft Surface Pro				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-09	Microsoft Surface Pro Keyboard				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-10	Microsoft Surface Pro Mouse				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-11	Microsoft Surface Pro Styus				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-12	Printer				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-13	Projectors				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-14	Projector Ceiling Mount				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	
TS-19-02-01-15	SMART Boards 77				No Bids
Agency Notes:		Supplier Product Code:		Supplier Notes:	

EarthWalk Communications, Inc.					\$20,385.00 (1/15 items)	
Bid Contact Erin Ginther Bids@earthwalk.com Ph 888-213-4900			Address 10511 Battleview Parkway Manassas, VA 20109			
Supplier Code 270221						
Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9						
Agency Notes:		Supplier Notes:				
Item #	Line Item	Unit Price	Qty/Unit	Total Price		
TS-19-02-01-01	Chromebook					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-02	Chromebook Mgmnt License					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-03	Chromebook Cart - First Offer	\$1,359.00	15 / each			\$20,385.00
Product Code: CC30+ HE						
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-04	Desktops					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-05	Desktops					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-06	Document Cameras					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-07	Interactive Systems					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-08	Microsoft Surface Pro					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-09	Microsoft Surface Pro Keyboard					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-10	Microsoft Surface Pro Mouse					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						
TS-19-02-01-11	Microsoft Surface Pro Styus					No Bids
Agency Notes:		Supplier Product Code:				
Supplier Notes:						

TS-19-02-01-12	Printer		No Bids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
TS-19-02-01-13	Projectors		No Bids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
TS-19-02-01-14	Projector Ceiling Mount		No Bids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	
TS-19-02-01-15	SMART Boards 77		No Bids
Agency Notes:		Supplier Product Code:	
		Supplier Notes:	

Close

Questions? Contact a BidSync representative: 800-990-9339 or email: support@bidsync.com

[Home](#) |
 [Bid Search](#) |
 [Bids](#) |
 [Orders](#) |
 [Tools](#) |
 [Support](#) |
 [Privacy](#) |
 [Logout](#)



Copyright © 1999-2018 - BidSync - All rights reserved.

Bid #TS-19-02 - Chromebooks, Licenses, and Mobile Carts for Pembroke Pines Charter SchoolsCreation Date **Jun 20, 2019**End Date **Jul 23, 2019 2:00:00 PM EDT**Start Date **Jun 25, 2019 2:10:08 PM EDT**Awarded Date **Not Yet Awarded**

TS-19-02-01-01 Chromebook					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
LEBOMAR LLC [Adj]	First Offer -	459 / each			
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH0006US Supplier Notes: 14E CHROMEBOOK A4/1.9 2C 14 4GB 32GB SSD			
Staples Inc., Staples Technology Solutions	First Offer -	459 / each			
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH0006US Supplier Notes: See Attachment			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	459 / each			
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH0006US Supplier Notes:			
V	First Offer -	459 / each			
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH000LUS Supplier Notes:			
CDW	First Offer -	459 / each			
Product Code: 81MH000LUS Agency Notes:		Supplier Product Code: 81MH000LUS Supplier Notes:			

TS-19-02-01-02 Chromebook Mgmt License					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Hypertec USA Inc. (Hypertec Direct)	First Offer -	459 / each			
Product Code: CROSSWDISGRT Agency Notes:		Supplier Product Code: CROSSWDISEDU Supplier Notes:			
V	First Offer -	459 / each			
Product Code: CROSSWDISGRT Agency Notes:		Supplier Product Code: CROSSWDISGRT Supplier Notes:			
Staples Inc., Staples Technology Solutions	First Offer -	459 / each			
Product Code: CROSSWDISGRT Agency Notes:		Supplier Product Code: CROSSWDISGRT Supplier Notes: Exact item			

CDW	First Offer -	459 / each			
Product Code: CROSSWDISGRT Agency Notes:		Supplier Product Code: CROSSWDISGRT Supplier Notes:			
LEBOMAR LLC [Ad]	First Offer -	459 / each			
Product Code: CROSSWDISGRT Agency Notes:		Supplier Product Code: CROSSWDISEDU Supplier Notes: CHROMEOS MGMT SVC FOR EDU LIC			

TS-19-02-01-03 Chromebook Cart					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Hypertec USA Inc. (Hypertec Direct)	First Offer -	15 / each			
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: Supplier Notes:			
Staples Inc., Staples Technology Solutions	First Offer -	15 / each			
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: TVC32PAC-CK Supplier Notes: https://www.bretford.com/product/cube-cart			
CDW	First Offer -	15 / each			
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: AC-CDW-36 Supplier Notes:			
EarthWalk Communications, Inc.	First Offer -	15 / each			
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: Supplier Notes:			
V	First Offer -	15 / each			
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: 4ZD0G75071 Supplier Notes: MOBILECART EARTHWALK 30U MC00072110 4/17			
LEBOMAR LLC [Ad]	First Offer -	15 / each			
Product Code: CC30+ HE Agency Notes:		Supplier Product Code: CC30-HEZP2 Supplier Notes: ChromeCart 30 model # CC30-HEZP2			

TS-19-02-01-04 Desktops					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	90 / each			
Product Code: HAO120001B00000 Agency Notes:		Supplier Product Code: Supplier Notes: Staples sells the desktop, license and warranty separate. Unit price is combined. Here I will separate the pricing with item numbers. HAO120001B00000 - \$307.90 - BPP0L0000000000 - \$99.99 1 BMY3L0000000000 - \$54.51 - Total \$462.40			
LEBOMAR LLC [Ad]	First Offer -	90 / each			
Product Code: HAO120001B00000 Agency Notes:		Supplier Product Code: 5495574 Supplier Notes: HAO120001B00000 + BPP0L0000000000 + BMY3L0000000000 IGEL TECHNOLOGY : UD3-LX, IGEL OS 11, incl. 2GB RAM and 4GB SSD, Powercord US + Workspace Edition License + IGEL Workspace Edition 3 year Maintenance			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	90 / each			
Product Code: HAO120001B00000 Agency Notes:		Supplier Product Code: HAO120001B00000 Supplier Notes:			
CDW	First Offer -	90 / each			
Product Code: HAO120001B00000 Agency Notes:		Supplier Product Code: HAO120001B00000 Supplier Notes:			

TS-19-02-01-05 Desktops					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
LEBOMAR LLC [Ad]	First Offer -	10 / each			
Product Code: HAB250011B00000 Agency Notes:		Supplier Product Code: 5179758 Supplier Notes: HAB250011B00000 + BPP0L0000000000 + BMY3L0000000000 IGEL TECHNOLOGY : UD3-W10 4GB RAM and 32GB SSD, PowerCord incl. US-Plug + Workspace Edition License + : IGEL Workspace Edition 3 year Maintenance			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	10 / each			
Product Code: HAB250011B00000 Agency Notes:		Supplier Product Code: HAB250011B00000 Supplier Notes:			
Staples Inc., Staples Technology Solutions	First Offer -	10 / each			
Product Code: HAB250011B00000 Agency Notes:		Supplier Product Code: Supplier Notes: Staples sells the desktop, license and warranty separate. Unit price is			

combined. Here I will separate the pricing with item numbers.
 AHB250011B00000 - \$492.09 - BPP0L0000000000 - \$106.17 -
 BMY3L0000000000 - \$54.51 - Total 652.77

CDW	First Offer -	10 / each			
Product Code: HAB250011B00000		Supplier Product Code: HAB250011B00000			
Agency Notes:		Supplier Notes:			

TS-19-02-01-06 Document Cameras					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	8 / each			
Product Code: 340H		Supplier Product Code: DC170			
Agency Notes:		Supplier Notes: See Attachment			
CDW	First Offer -	8 / each			
Product Code: 340H		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	8 / each			
Product Code: 340H		Supplier Product Code: 1771044			
Agency Notes:		Supplier Notes:			

TS-19-02-01-07 Interactive Systems					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	4 / each			
Product Code:		Supplier Product Code: ELM1367			
Agency Notes:		Supplier Notes: https://www.elmoussa.com/product/mx-p/			
CDW	First Offer -	4 / each			
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	4 / each			
Product Code:		Supplier Product Code: 1762262			
Agency Notes:		Supplier Notes:			

TS-19-02-01-08 Microsoft Surface Pro					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	4 / each			
Product Code:		Supplier Product Code: LQJ-00001			
Agency Notes:		Supplier Notes:			

		Exact Item			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	4 / each			
Product Code:		Supplier Product Code: LQJ-00016			
Agency Notes:		Supplier Notes:			
CDW	First Offer -	4 / each			
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
LEBOMAR LLC [Ad]	First Offer -	4 / each			
Product Code:		Supplier Product Code: LQJ-00016			
Agency Notes:		Supplier Notes: SURFACE PRO6 I7 16GB 512GB COMM FR BLK			

TS-19-02-01-09 Microsoft Surface Pro Keyboard					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	4 / each			
Product Code:		Supplier Product Code: FFQ-00041			
Agency Notes:		Supplier Notes: Exact Item			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	4 / each			
Product Code:		Supplier Product Code: FFQ-00041			
Agency Notes:		Supplier Notes:			
CDW	First Offer -	4 / each			
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
LEBOMAR LLC [Ad]	First Offer -	4 / each			
Product Code:		Supplier Product Code: FFQ-00041			
Agency Notes:		Supplier Notes: SPRO SIGNA TYPE COVER COMM M1725 BGN DY			

TS-19-02-01-10 Microsoft Surface Pro Mouse					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	4 / each			
Product Code:		Supplier Product Code: KGZ-00011			
Agency Notes:		Supplier Notes: Exact Item			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	4 / each			
Product Code:		Supplier Product Code: KGZ-00011			
Agency Notes:		Supplier Notes:			
CDW	First Offer -	4 / each			
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
LEBOMAR LLC [Ad]	First Offer -	4 / each			
Product Code:		Supplier Product Code: KGZ-00011			
Agency Notes:		Supplier Notes: SURFACE MOB MSE SC BT XD XX BGN DY 1 LIC			

TS-19-02-01-11 Microsoft Surface Pro Styus					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Hypertec USA Inc. (Hypertec Direct)	First Offer -	4 / each			
Product Code:		Supplier Product Code: EYV-00025			
Agency Notes:		Supplier Notes:			
Staples Inc., Staples Technology Solutions	First Offer -	4 / each			
Product Code:		Supplier Product Code: EYV-00025			
Agency Notes:		Supplier Notes: Exact Item			
CDW	First Offer -	4 / each			
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
LEBOMAR LLC (Ad)	First Offer -	4 / each			
Product Code:		Supplier Product Code: EYV-00025			
Agency Notes:		Supplier Notes: SURFACE PEN COMM M1776 SC EN SP BGN DY			

TS-19-02-01-12 Printer					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	36 / each			
Product Code: M402dn		Supplier Product Code: W1A53A#BGJ			
Agency Notes:		Supplier Notes: M402dn is end of life. Staples offers toners and warranty for this product. See attachment			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	36 / each			
Product Code: M402dn		Supplier Product Code: W1A53A#BGJ			
Agency Notes:		Supplier Notes:			
CDW	First Offer -	36 / each			
Product Code: M402dn		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
LEBOMAR LLC (Ad)	First Offer -	36 / each			
Product Code: M402dn		Supplier Product Code: W1A53A#BGJ			
Agency Notes:		Supplier Notes: LJ PRO M404DN LASERPR 38PPM US CA MX LA			

TS-19-02-01-13 Projectors					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	31 / each			
Product Code: ME331W		Supplier Product Code: NP-ME331W			
Agency Notes:		Supplier Notes: Exact Item			

Hypertec USA Inc. (Hypertec Direct)	First Offer -	31 / each			
Product Code: ME331W Agency Notes:		Supplier Product Code: NP-ME331W Supplier Notes:			
LEBOMAR LLC (Ad)	First Offer -	31 / each			
Product Code: ME331W Agency Notes:		Supplier Product Code: NP-ME331W Supplier Notes: PROJ 3300LUM WXGA LCD W/ 6000:1 IRIS 20W			
CDW	First Offer -	31 / each			
Product Code: ME331W Agency Notes:		Supplier Product Code: Supplier Notes:			

TS-19-02-01-14 Projector Ceiling Mount					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Hypertec USA Inc. (Hypertec Direct)	First Offer -	31 / each			
Product Code: Agency Notes:		Supplier Product Code: NP01UCM Supplier Notes:			
Staples Inc., Staples Technology Solutions	First Offer -	31 / each			
Product Code: Agency Notes:		Supplier Product Code: NP01UCM Supplier Notes: Exact Item			
CDW	First Offer -	31 / each			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
LEBOMAR LLC (Ad)	First Offer -	31 / each			
Product Code: Agency Notes:		Supplier Product Code: RPA284 Supplier Notes: CEIL MOUNT FOR PROJ			

TS-19-02-01-15 SMART Boards 77					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Staples Inc., Staples Technology Solutions	First Offer -	5 / each			
Product Code: Agency Notes:		Supplier Product Code: FX-79E2 Supplier Notes: See Attachment for line item. Please also see attached insurance redlines. This was the only place we noticed where we could upload an attachment.			
CDW	First Offer -	5 / each			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Hypertec USA Inc. (Hypertec Direct)	First Offer -	5 / each			
Product Code: Agency Notes:		Supplier Product Code: SBM680 Supplier Notes:			

Supplier Totals

f <u>Staples Inc., Staples Technology Solutions</u>		(15/15 items)
Bid Contact	Rick Nieves rick.nieves@staples.com Ph 407-475-4844	Address 1901 Summit Tower Blvd Suite 100 Orlando, FL 32810
Qualifications	PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9	
Bid Notes	Please also see attached insurance redlines. This was the only place we noticed where we could upload an attachment under line item TS-19-02-01-15.	
Agency Notes:	Supplier Notes: Please also see attached insurance redlines. This was the only place we noticed where we could upload an attachment under line item TS-19-02-01-15.	Head Attch: 
f <u>Hypertec USA Inc. (Hypertec Direct)</u>		(15/15 items)
Bid Contact	Mike Marracino bidsus@hypertec.com Ph 480-626-9000 Fax 480-626-9001	Address 1753 E BROADWAY RD STE 101-514 TEMPE, AZ 85282
Qualifications	PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9	
Agency Notes:	Supplier Notes:	Head Attch: 
f <u>CDW</u>		(15/15 items)
Bid Contact	Faizan Badr faizbad@cdwg.com Ph 312-705-8118	Address 120 S Riverside PLZ Chicago, IL 60606
Qualifications	PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9	
Agency Notes:	Supplier Notes:	Head Attch: 
<u>LEBOMAR LLC (Ad)</u>		(12/15 items)
Bid Contact	Cesar LEBOREIRO cesar.leboreiro@grupolebomar.com Ph 954-374-4208	Address 18501 PINES BOULEVARD SUITE 357 PEMBROKE PINES, FL 33029
Qualifications	PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9	
Agency Notes:	Supplier Notes:	
<u>V</u>		(3/15 items)
Bid Contact	Casey Weber casey@verapro.net Ph 504-723-1026	Address 552 Belle Terre Blvd. Laplace, LA 70068
Qualifications	PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9	
Agency Notes:	Supplier Notes:	
<u>EarthWalk Communications, Inc.</u>		(1/15 items)
Bid Contact	Erin Ginther Bids@earthwalk.com Ph 888-213-4900	Address 10511 Battleview Parkway Manassas, VA 20109

Supplier Code 270221

Qualifications **PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB
PP-W9****Agency Notes:****Supplier Notes:**

****All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.**